CEM Select ahd
Drag and Drop Practice

Complete each calculation with one of the following signs: + - X +

8()7=56 O 2()4x3=24
32 () 8=24 @ 156()12=13
9=63()7 O 4+x12()8=56
60 =54 ()6 © 0x12()10=10
132 () 12=11 ©® 10()9x12=72

Complete each calculation with one of the following digits:
0123456789

108+9=| |2 O 1w67+84=2| |1
7x6| [=420 © 32| |-158=164
173-| |4=79 © 116 [+13=13
27x6=| |62 © 5| |5-462=353
31 x 16 = 49 @® 201+ |7=378




CEM Select

Drag and Drop Answers

Complete each calculation with one of the following signs: + - X =+

8 x 7=56

32 -8=24

9=63 =7

60=54 + 6

132 =12 =1

o
o
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2 x4x3=24
156 + 12 =13
4%x12 + 8 =56

10 x12 - 10 =110

180 - 9 x12 =72

Complete each calculation with one of the following digits:
0123456789

108 + 9 =12

7 x60 =420

173-94 =79

27 x 6 =162

31 x16 = 496
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167 + 84 = 251

322 - 158 = 164

169 +13 =13

815 - 462 = 353

291+ 87 =378
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